
Subject: Re: structure into strcuture
Posted by Brian Larsen on Fri, 12 Oct 2007 17:57:39 GMT
View Forum Message <> Reply to Message

I think the problem here is just how you did it.  It works for me, try
this code

IDL> a={ a1:0l, a2:1l }
IDL> b={ b1:0l, b2:1l }
IDL> c = {a:a, b:b}
IDL> help, c
C               STRUCT    = -> <Anonymous> Array[1]
IDL> help, c, /str
** Structure <22cbb14>, 2 tags, length=16, data length=16, refs=1:
   A               STRUCT    -> <Anonymous> Array[1]
   B               STRUCT    -> <Anonymous> Array[1]
IDL> print, c.a.a1
           0

Cheers,

Brian

 ------------------------------------------------------------ --------------
Brian Larsen
Boston University
Center for Space Physics
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